
ECAT Pre General Science Online Test

Sr Questions Answers Choice

1 A flowing liquid possess
A. K.E
B. P.E
C. Pressure Energy
D. All

2 The force exerted by the fluid in a hydraulic pump on the piston is 10 cm2, the fluid pressure
on the piston is, in N/cm2

A. 20
B. 200
C. 2000
D. 20,000

3 The density of water is 103kg/m3. The water pressure on a submarine is 2.0 x 107N/m2. The
depth of the submarine below the surface of the water, in maters, is approximately

A. 200 m
B. 11000 m
C. 2000 m
D. 8000 m

4 The term Brownian movement refers to

A. irregular motions of small particles
suspended in a fluid
B. convection currents in a liquid or
gas
C. convection currents in a gas but
not in a liquid
D. the stretching of a body beyond its
elastic limit

5 Pressure exerted by a gas on the walls of its container in due to

A. adhesion between the gas
molecules and the container
B. cohesion between the gas
molecules and the container
C. collision between the gas
molecules and the container
D. surface tension of the gas

6 A body is floating in a liquid. The up thrust on the body is

A. Equal to weight of liquid displaced
B. Zero
C. Less than the weight of liquid
displaced
D. Weight of body-weight of liquid
displaced

7
In a surface tension experiment with a capillary tube water rises up to 0.1 m. if the same
experiment is repeated on an artificial satellite, which is resolving around the earth, water will
rise in the capillary tube up to a height of

A. 0.1 m
B. 0.2 m
C. 0.98 m
D. Full length of the capillary tube

8 In a container having water filled up to a height h, a hole is made in the bottom. The velocity
of water flowing out of the hole is

A. Independent of h
B. Proportional to h<sup>1/2</sup>
C. Proportional to h
D. Proportional to h<sup>2</sup>

9 Internal friction of fluid is called
A. Surface tension
B. Viscosity
C. Resistance
D. Cohesive force

10 At high altitude the blood oozes out of the nose and ear because

A. The blood pressure increase at
high altitudes
B. The percentage of oxygen in the
air increase
C. The atmospheric pressure
decrease there
D. The density of blood decrease at
high altitudes

11 The pressure will be low where the speed of the fluid is
A. Zero
B. High
C. Low
D. Constant

12 Blood has a density
A. Equal to water
B. Greater then water
C. Lesser then water
D. None of these

13 According to Stoke's law, drag force depends on
A. Initial velocity
B. Final velocity
C. Terminal velocity



13 According to Stoke's law, drag force depends on C. Terminal velocity
D. Instantaneous velocity

14 Ball pen functions on the principle of
A. Viscosity
B. Boyle's law
C. Gravitational force
D. Surface tnesion

15 A person standing near the track of a fast moving train has tendency to fall towards it
because of

A. Vibration due to motion of train
B. Gravitation force of attraction
between person and trains
C. The high speed of train
D. Some other effect

16 Surface tension of water is due to
A. Inter molecular attractions
B. Inter molecular spaces
C. Inter molecular repulsion
D. None of above

17 Bernoulli's equation is based upon law of conversation
A. Mass
B. Momentum
C. Energy
D. None of these

18 The terminal velocity of a small size spherical body of radius R moving in a fluid varies as
A. R
B. R<sup>2</sup>
C. 1/R
D. (1/R)<sup>2</sup>

19 The velocity of falling raindrops attains limited value because of

A. Up thrust of air
B. Air currents of the earth
atmosphere
C. Surface tension effect
D. Viscous force exerted by air

20 A body whose momentum is constant must have constant
A. Acceleration
B. Velocity
C. Force
D. None of these

21 Swimming is based on the principle of
A. Newton's 1st law
B. Newton's 2nd law
C. Newton's 3rd law
D. All

22 If rope of lift breaks suddenly. The tension exerted by the surface of lift is (a=Acceleration of
lift)

A. mg
B. m (g+a)
C. m (g - a)
D. 0

23 A body of mass 1.0 kg is falling with an acceleration of 10 m/s2. Its apparent weight will be
(g=10 m/s2)

A. 1.0 kg wt
B. 2.0 kg wt
C. 0.5 kg wt
D. Zero

24 When a body is moving on a surface, the force of friction is called
A. Static friction
B. Dynamic friction
C. Limiting friction
D. Rolling friction

25 A railway engine (mass 104kg) is moving with a speed of 73 km/h. The force which should be
applied to bring it to rest over a distance of 20 m is

A. 3,600 N
B. 7,200 N
C. 10,000 N
D. 100,000 N

26 When a horse pulls a cart, the force that makes the horse run forward is the force exerted
by

A. The horse on the ground
B. The horse on the cart
C. The ground on the horse
D. The ground on the cart

27 When a bicycle is in motion, the frictional forces exerted by the ground are

A. In the forward direction on both the
wheels

B. In the backward direction on both
the wheels
C. In the forward direction on the
front wheel and the backward
direction on the rear wheel
D. In the backward direction on the
front wheel and the forward direction
on the rear wheel

28 In an elevator moving vertically up with an acceleration 'g' the force exerted on the floor by a
passenger of mass M is

A. Mg
B. 1/2 Mg
C. Zero
D. 2 Mg

29 Rocket engines lift a rocket from the earth surface, because hot gas with high velocity

A. Push against the air
B. React against the rocket and push
it up



29 Rocket engines lift a rocket from the earth surface, because hot gas with high velocity it up
C. Heat up the air which lifts the
rocket
D. Push against the earth

30 Two bodies of masses 1 kg and 5 kg are dropped gently form the top of a tower. A a point
20 cm from the ground both the bodies will have the same

A. Momentum
B. Kinetic energy
C. Velocity
D. Total energy

31 When the surfaces are coated with a lubricant, then they
A. Stick to each other
B. Slide upon each other
C. Roll upon each other
D. None of these

32 A force of 50 dynes is acted on a body of mass 5 g which is at rest, for an interval of 3
seconds, then impulse is

A. 0.15 x 10<sup>-3</sup>Ns
B. 0.98 x 10<sup>-3</sup>Ns
C. 1.5 x 10<sup>-3</sup>Ns
D. 2.5 x 10<sup>-3</sup>Ns

33 Unit of impulse in
A. Newton
B. Kg m
C. Kg m/s
D. Joule

34 A man fires a bullet of mass 200 g at a speed of 5 m/s. The gun is of one kg mass. By what
velocity the gun rebounds backwards?

A. 0.1 m/s
B. 10 m/s
C. 1 m/s
D. 0.01 m/s

35 A cold soft drink is kept on the balance. When the cap is opened, then the weight
A. Increases
B. Decreases
C. First increases, then decreases
D. Remains same

36 When a bicycle is in motion but not pedaled, the force of friction exerted by the ground on
the two wheels is such that it acts

A. In the backward direction on the
front wheel and in the forward
direction on the rear wheel
B. In the forwards directions on the
front wheel and in the backward
direction on the rear wheel
C. In the forward direction on both
the wheels
D. In the backward direction on both
the wheels

37 An aircraft is moving with a velocity of 300 ms-1. If all the forces acting on it are balanced,
then

A. It still moves with the same velocity
B. It will be just floating at the same
point in space
C. It will be fall down instantaneously
D. It will lose its velocity gradually

38 A boat of mass 40 kg is at rest, A dog of mass 4 kg moves in the boat with a velocity of 10
m/s. What is the velocity of boat?

A. 4 m/s
B. 2 m/s
C. 8 m/s
D. 1 m/s

39 For a given angle of projection, if the time of flight of a projectile is doubled, the horizontal
range will increases to

A. Four times
B. Thrice
C. Once
D. Twice

40 Two bullets are fired simultaneously, horizontally and with different speeds from the same

place. Which bullet will hit the ground first?

A. The faster one
B. Depends on their mass

C. The slower one
D. Both will reach simultaneously

41 A the top of the trajectory of a projectile, the directions of its velocity and acceleration are

A. Perpendicular to each other
B. Parallel to each other
C. Inclined to each other at an angle
of 45<span style="color: rgb(84, 84,
84); font-family: arial, sans-serif; font-
size: small;">°</span>
D. Anitparallel to each other

42 Angular momentum

A. Scalar
B. Axial vector
C. Polar vector
D. At 45<span style="color: rgb(84,
84, 84); font-family: arial, sans-serif;
font-size: small;">° angle</span>

43 A stone is dropped from rest from the top of a tower 19.6 m high. The distance traveled
during the last second of its fall is (giving g=9.8 m/ss)

A. 9.8 m
B. 14.7 m
C. 4.9 m
D. 19.6 m

44 The range of projectile is 50 m whenθ is inclined with horizontal at 15°. What is the range whenθ
becomes 45°?

A. 400 m
B. 300 m
C. 200 m



44 becomes 45°? C. 200 m
D. 100 m

45 A projectile on its path gets divided into two pieces at its highest point. Which is true?
A. Momentum increases
B. Momentum decreases
C. Kinetic energy increases
D. Kinetic energy decreases

46 Which of the following statements for an object in equilibrium is not true?

A. The object must be at rest
B. The object can be at rest
C. The object is moving at constant
speed
D. The acceleration of the object is
zero

47 Two projectiles are fired from the same point with the same speed at angles of projection 60°
and 30° respectively. Which one of the following is true?

A. Their range will be same
B. Their maximum height will be same
C. Their landing velocity will be same
D. Their time of flight will be same

48 Maximum height of a bullet when fixed at 30 with horizontal is 11 m. Then height when it is
fired at 60° is

A. 22 m
B. 6 m
C. 33 m
D. 7.8 m

49 Find the total displacement of a body in 8 seconds starting from rest with an acceleration of
20 cm/s2

A. 0.064 m
B. 640 cm
C. 64 cm
D. 64 m

50 A train is moving with a velocity of 25 m/s and a car is moving behind it by a velocity of 8 m/s
in same direction. The relative velocity of train with respect to car is

A. 17 m/s
B. 33 m/s
C. 17.5 m/s
D. none

51 A body is thrown from a height h with speed u, it hits the ground with speed V

A. The value of V is maximum if the
body is thrown vertically downward
B. The value of V is maximum if the
body is thrown vertically upwards
C. The value of V is minimum if the
body is thrown horizontally
D. The value of V does not depend
on the direction of which it is thrown

52 A ball is dropped vertically down and it takes time t to reach the ground. At time t/2

A. The ball had covered exactly half
the distance
B. The velocity of the ball was V/3
where V is the velocity when it
reached the ground
C. The ball had covered less than
half the distance
D. The ball had covered more than
half the distance

53
A ball is dropped from a certain height and another ball is projected horizontally from the
same point. Which of the following statement is correct?

A. Both hit the ground at the same
veloctiy
B. Both hit the ground at the same
speed
C. The change of velocity during the
path for both balls is the same
D. The change of speed during the
path for both balls is the same

54
A man sitting in a bus travelling in a direction from west to east with a speed of 40 km/h
observes that the rain drops are falling vertically down. To the another man standing on
ground the rain will appear

A. To fall vertically down
B. To fall at an angle going from west
to east
C. To fall at an angle going from east
to west
D. The information given is
insufficient to decide the direction of
rain

55 Range of a projectile is R, when the angle of projection is 30° . Then, the value of the other
angle of projection for the same range, is

A. 45<span style="color: rgb(84, 84,
84); font-family: arial, sans-serif; font-
size: small;">°</span>
B. 60<span style="color: rgb(84, 84,
84); font-family: arial, sans-serif; font-
size: small;">°</span>
C. 50<span style="color: rgb(84, 84,
84); font-family: arial, sans-serif; font-
size: small;">°</span>
D. 40<span style="color: rgb(84, 84,
84); font-family: arial, sans-serif; font-
size: small;">°</span>

56 If the water falls from a dam into a turbine wheel 19.6 m below, then the velocity of water at
the turbine, is (Take g=9.8 m/s2)

A. 9.8 m/s
B. 19.6 m/s
C. 39.2 m/s
D. 98.0 m/s



D. 98.0 m/s

57 If speed of electron is 5 x 105m/s. How long does it take one electron to transverse 1 m?

A. 1 x 10<sup>6</sup>
B. 2 x 10<sup>6</sup>
C. 2 x 10<sup>5</sup>
D. 1 x 10<sup>5</sup>

58 Distance traveled by a body falling from rest in the first, second and third second is in the
ration of

A. 1 : 2 : 3
B. 1 : 3 : 5
C. 1 : 4 : 9
D. None of the above

59 A ball is dropped downwards After 1 second another ball is dropped downwards from the
same point. What is the distance between them after 3 seconds

A. 25 m
B. 20 m
C. 50 m
D. 9.8 m

60 If a train traveling at 72 kmph is to be brought to rest in a distance of 200 meters then its
retardation should be

A. 20 ms<sup>-2</sup>
B. 10 ms<sup>-2</sup>
C. 2 ms<sup>-2</sup>
D. 1 ms<sup>-2</sup>

61 A car travels first half distance between two places with a speed of 30 km/h and remaining
half with a speed of 50 km/h. The average speed of the car is

A. 37.5 km/h
B. 10 km/h
C. 42 km/h
D. 40 km/h

62 If an iron ball and a wooden ball of the same radius was released from a height 'h' in
vacuum, then time taken by both of them to reach ground will be

A. Unequal
B. Exactly equal
C. Roughly equal
D. Zero

63 A body falls freely from rest. It covers as much distance in the last second of its motion as
covered in the first three seconds. The body has fallen for a time of

A. 3 s
B. 5 s
C. 7 s
D. 9 s

64 A person is sitting in a traveling train and facing the engine. He tosses up a coin and the
coin falls behind him. It can be concluded that the train is

A. Moving forward and gaining speed
B. Moving forward and losing speed
C. Moving forward with uniform speed
D. Moving backward with uniform
speed

65 The mass of a body measured by a physical balance in a lift at rest is found to be m, if the
lift is going up with an acceleration a, its mass will be measured as

A. m (1 - a/g)
B. m (1 + a/g)
C. m
D. Zero

66
A lift is moving up with acceleration equal to 1/5 of that due to gravity. The apparent weight
of a 60 kg man standing in lift is

A. 60 kg wt
B. 72 kg wt
C. 48 kg wt
D. Zero

67 A monkey sits on the pan of spring scale kept in an elevator. The reading of the spring scale
will be maximum when

A. Elevator is stationary
B. Elevator cable breaks and it falls
freely towards earth
C. Elevator accelerates downwards
D. Elevator accelerates upward

68 A lift is descending at a constant speed V. A passenger in the lift drops a coin. The
acceleration of the coin towards the floor will be

A. Zero
B. g
C. -g
D. V + g

69 A vehicle of mass 120 kg is moving with a uniform velocity of 108 km/h. The force required to
stop the vehicle in 10s is

A. 120 x 10.8 N
B. 180 N
C. 720 N
D. 360 N

70 Essential characteristic of equilibrium is
A. Momentum equal to zero
B. Acceleration equal to zero
C. Kinetic energy equal to zero
D. Velocity equal to zero

71 If a car rest acceleration uniformly to a speed of 144 km/h in 20 s it covers a distance of
A. 20 m
B. 400 m
C. 1440 m
D. 2880 m

72 A ball falls on the surface from 10 m height and rebounds to 2.5 m. if the duration of contact
with the floor is 0.01 seconds then the average acceleration during contact is

A. 2100 m/s<sup>2</sup>
B. 1400 m/s<sup>2</sup>
C. 700 m/s<sup>2</sup>
D. 400 m/s<sup>2</sup>

73 By which velocity a ball be projected vertically so that the distance covered by it in 5th
seconds is twice the distance it covers in its 6th second ( g=10m/s2)

A. 58.8 m/s
B. 49 m/s
C. 65 m/s
D. 19.6 m/s

A. 6 s



74 A 120 m long train is moving in a direction with speed 20 m/s. A train B moving with 30 m/s in
the opposite direction and 130 m long crosses the first train in a time

A. 6 s
B. 36 s
C. 38 s
D. None of these

75 A ball of mass m moving with uniform speed collides elastically with another stationary ball.
The incident ball will lose maximum kinetic energy when mass of the stationary ball is

A. m
B. 2 m
C. 4 m
D. Infinity

76 A car moves for half of its time at 80 km/h and rest half of time at 40 km/h, The total distance
covered is 60 km. What is the average speed of the car?

A. 60 km/hr
B. 80 km/hr
C. 120 km/hr
D. 180 km/hr

77
An airplane is flying horizontally with a velocity of 600 km/h and at a height of 1960 m. When
it is vertically above a point A on the ground, a bomb is released from it. The bomb strikes
the ground, at point B. The distance AB is

A. 1200 m
B. 0.33 km
C. 3.33 km
D. 33 km

78 For a moving body, at any instant of time

A. If the body is not moving the
acceleration is necessarily zero
B. If the body is slowing, the
retardation is negative
C. If the body is slowing, the distance
is negative
D. If displacement, velocity and
acceleration at that instant are
known, we can find the displacement
at any given time in future

79 A body walks to his school at a distance of 6 km with a speed of 2.5 km/h and walks back
with a constant speed of 5 km/h. His average speed for round trip expressed in km/h is

A. 24/13
B. 10/3
C. 3
D. 4,8

80 A ball is thrown upwards with a velocity of 100 m/s. It will reach the ground after
A. 10 s
B. 20 s
C. 5 s

D. 40 s

81 At the top of the trajectory of a projectile the acceleration is

A. The maximum
B. The minimum
C. Zero
D. g

82 Which of the following four statements is false?

A. A body can have zero velocity and
still be accelerated
B. A body can have a constant
velocity and still have a varying
speed
C. A body can have a constant speed
and still have a varying velocity
D. The direction of the velocity of a
body can change when its
acceleration is constant

83 A body is dropped from a tower with zero velocity, reaches ground in 4s. The height of the
tower is about

A. 80 m
B. 20 m
C. 160 m
D. 40 m

84 What will be the ratio of the distance moved by a freely falling body from rest in 4th and 5th
seconds of journey?

A. 4 : 5
B. 7 : 9
C. 16 : 25
D. 1 : 1

85
A train of 150 m length is going towards north direction at a speed of 10 ms-1. A parrot files
at a speed of 5 ms-1towards south direction parallel to the railway track. The time taken by
the parrot to cross the train is equal to

A. 12 s
B. 8 s
C. 15 s
D. 10 s

86
The sum of the magnitude of two forces acting at a point is 18 and the magnitude of their
resultant is 12. If the resultant is at 90° with the force of the smaller magnitude, then their
magnitudes are

A. 3, 15
B. 4, 14
C. 5, 13
D. 6, 12

87 A motorist travels A to B at a speed at 40 km/h and returns at speed of 60km/h. His average
speed will be

A. 40 km/h
B. 48 km/h
C. 50 km/h
D. 60 km/h

88 In velocity of a particle at an instant is 10 m/s and after 5s the velocity of the particle is 20
m/s. The velocity 3s before in m/s is

A. 8
B. 4
C. 6
D. 7

A. Parallel
B. Antiparallel



89 To get a resultant displacement of 10 m, two displacement vectors of magnitude 6 m and 8
m should be combined

B. Antiparallel
C. At angle 60<span style="color:
rgb(84, 84, 84); font-family: arial,
sans-serif; font-size: small;">°</span>
D. Perpendicular to each other

90 In Bernoulli's theorem the relation between velocity and pressure is
A. Inverse
B. Direct
C. None of the above
D. Both a and b

91
In the case of an incompressible fluid in stead flow the net rate of flow of mass entering one
end of the tube of flow is equal to the net rate of flow of mass leaving the other end. This
equation is called

A. Quadratic equation
B. Equation of discontinuity
C. Equation of continuity
D. None of the above

92 The smooth or steady stream-line flow is know as
A. Laminar flow
B. Turbulent flow
C. Both a and b
D. None of the above

93 With the increase of temperature viscosity
A. Increase
B. Decrease
C. Remains same
D. Doubles

94 A P-N juction or semiconductor diode cannot be used as
A. A rectifier
B. Detector
C. Oscillator
D. An amplifier

95 The substances whose resistance decreases with the increase in temperature these
substances have coefficient of

A. positive temperature
B. negative temperature
C. absolute temperature
D. zero temperature

96 In the phenomenon of hysteresis

A. magnetism leads the magnetising
current
B. magnetism lags behind the
magnetising current
C. meganetism goes along the
magnetising current
D. none of them

97 The curie temperature of iron is about

A. 250<span style="color: rgb(84, 84,
84); font-family: arial, sans-serif; font-
size: small;">°C</span>
B. 500<span style="color: rgb(84, 84,
84); font-family: arial, sans-serif; font-
size: small;">°C</span>
C. 750<span style="color: rgb(84, 84,
84); font-family: arial, sans-serif; font-
size: small;">°C</span>
D. 1000<span style="color: rgb(84,
84, 84); font-family: arial, sans-serif;
font-size: small;">°C</span>

98 Above the curie temperature, iron becomes
A. ferromagnetic
B. paramagnetic
C. diamagnetic
D. any one of them

99 Ferromagnetic substances lose their magnetism when heated above a certain temperature,
known as

A. critical temperature
B. curie temperature
C. high temperature
D. fixed temperature

100 Current, voltage, resistance measuring circuit is connected with the galvanometer with the
help of switch, known as

A. ON switch
B. off switch
C. function switch
D. none of these


